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Nr ugo Szer. . ci zbrojenie

yty : [cm] [cm] [cm]
1 1 SMART 60/20 191 30 1 0,6 0,6 165,3 165,3 191 2 x ø 9.3 + 2 x ø 6.85
2 1 SMART 60/20 191 60 78 1,1 85,8 333,5 26013 2 x ø 9.3 + 2 x ø 6.85
3 1 SMART 60/20 192 40 1 0,8 0,8 223,3 223,3 192 2 x ø 9.3 + 2 x ø 6.85
4 1 SMART 60/20 192 60 7 1,2 8,4 333,5 2334,5 2 x ø 9.3 + 2 x ø 6.85
5 1 SMART 60/20 230 40 1 0,9 0,9 266,8 266,8 230 2 x ø 9.3 + 2 x ø 6.85
6 1 SMART 60/20 230 60 4 1,4 5,6 400,2 1600,8 2 x ø 9.3 + 2 x ø 6.85
7 1 SMART 60/20 231 40 1 0,9 0,9 266,8 266,8 231 2 x ø 9.3 + 2 x ø 6.85
8 1 SMART 60/20 231 60 4 1,4 5,6 403,1 1612,4 2 x ø 9.3 + 2 x ø 6.85
9 1 SMART 60/20 288 60 7 1,7 11,9 501,7 3511,9 2 x ø 9.3 + 2 x ø 6.85

10 1 SMART 60/20 315 60 3 1,9 5,7 548,1 1644,3 2 x ø 9.3 + 2 x ø 6.85
11 1 SMART 60/20 342 30 2 1 2 298,7 597,4 342 2 x ø 9.3 + 2 x ø 6.85
12 1 SMART 60/20 342 60 5 2,1 10,5 594,5 2972,5 2 x ø 9.3 + 2 x ø 6.85
13 1 SMART 60/20 396 60 7 2,4 16,8 690,2 4831,4 4 x ø 9.3 + 2 x ø 6.85
14 1 SMART 60/20 458 40 1 1,8 1,8 530,7 530,7 458 4 x ø 9.3 + 2 x ø 6.85
15 1 SMART 60/20 469 30 2 1,4 2,8 408,9 817,8 469 4 x ø 9.3 + 2 x ø 6.85
16 1 SMART 60/20 469 50 2 2,3 4,6 681,5 1363 469 4 x ø 9.3 + 2 x ø 6.85
17 1 SMART 60/20 469 60 45 2,8 126 814,9 36670,5 4 x ø 9.3 + 2 x ø 6.85
18 1 SMART 60/20 690 60 1 4,1 4,1 1200,6 1200,6 6 x ø 9.3 + 2 x ø 6.85
19 1 SMART 60/20 691 60 10 4,1 41 1203,5 12035 6 x ø 9.3 + 2 x ø 6.85
20 1 SMART 60/20 692 30 2 2,1 4,2 603,2 1206,4 692 6 x ø 9.3 + 2 x ø 6.85
21 1 SMART 60/20 692 60 55 4,2 231 1203,5 66192,5 6 x ø 9.3 + 2 x ø 6.85
22 1 SMART 60/20 781 60 6 4,7 28,2 1360,1 8160,6 6 x ø 9.3 + 2 x ø 6.85
23 1 SMART 60/20 458 60 7 2,7 18,9 797,5 5582,5 4 x ø 9.3 + 2 x ø 6.85
24 1 SMART 60/20 342 60 1 2,1 2,1 594,5 594,5 60 2 x ø 9.3 + 2 x ø 6.85
25 1 SMART 60/20 231 60 1 1,4 1,4 400,2 400,2 26 2 x ø 9.3 + 2 x ø 6.85
26 1 SMART 60/20 230 60 1 1,4 1,4 400,2 400,2 24 2 x ø 9.3 + 2 x ø 6.85
27 1 SMART 60/20 469 60 1 2,8 2,8 814,9 814,9 89 4 x ø 9.3 + 2 x ø 6.85
28 1 SMART 60/20 469 60 1 2,8 2,8 814,9 814,9 89 4 x ø 9.3 + 2 x ø 6.85
29 1 SMART 60/20 469 60 1 2,8 2,8 814,9 814,9 89 4 x ø 9.3 + 2 x ø 6.85
30 1 SMART 60/20 469 60 1 2,8 2,8 815 814,9 89 4 x ø 9.3 + 2 x ø 6.85
31 1 SMART 60/20 781 60 1 4,7 4,7 1319,5 1319,5 383 6 x ø 9.3 + 2 x ø 6.85

SUMA 260 638,9 185774 4123
Uzupe nienie monolityczne= 5,68 m2

Pow. p yty

[m2]:
Ilo :Typ:

ZESTAWIENIE SZCZEGÓ OWE PANELI NAD PARTEREM

Suma pow.

[m2]:
Ci ar
yty [kg]

Suma
ci arów [kg]
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